Document: Emergency Rule, Register Page Number: 29 IR 34 Source: October 1, 2005, Indiana Register, Volume 29, Number 1 Disclaimer: This document was created from the files used to produce the official CD-ROM Indiana Register.

TITLE 65 STATE LOTTERY COMMISSION

LSA Document #05-240(E)

DIGEST

Temporarily adds rules concerning scratch-off game number 774. Effective August 18, 2005.

SECTION 1. The name of this scratch-off game is "Scratch-Off Game Number 774, \$100,000 Player's Club".

SECTION 2. Scratch-off tickets in scratch-off game number 774 shall sell for five dollars (\$5) per ticket.

SECTION 3. (a) Each scratch-off ticket in scratch-off game number 774 shall contain forty-five (45) play symbols and play symbol captions arranged among three (3) separate and independent games all concealed under a spot of latex material.

(b) The game play data area located in the upper left side of each scratch-off ticket in scratch-off game 774 shall be labeled "ROULETTE". Twelve (12) play symbols and play symbol captions shall be arranged in pairs representing numbers and prize amounts all surrounding one (1) play symbol and play symbol caption representing a number. The center of the game play data area shall be labeled "YOUR NUMBER".

(c) The game play data area located in the lower right side of each scratch-off ticket in scratch-off game 774 shall be labeled "7-11". Twelve (12) play symbols and play symbol captions shall appear [sic., in] a matrix of four (4) rows labeled "ROLL 1", "ROLL 2", "ROLL 3", and "ROLL 4", respectively, and three (3) unlabeled columns.

(d) The game play data area located in the lower left side of each scratch-off ticket in scratch-off game 774 shall be labeled "SLOTS". Twenty (20) play symbols and play symbol captions shall appear [sic., in] a matrix of five (5) rows labeled "PULL 1", "PULL 2", "PULL 3", "PULL 4", and "PULL 5", respectively, and four (4) unlabeled columns.

(e) The play symbols and play symbol captions in the area labeled "ROULETTE" of scratch-off game number 774, other than those representing prize amounts, shall consist of the following possible play symbols and play symbol captions:

(1) 1 ONE (2) 2TWO (3) 3 THR (4) 4 FOR (5) 5 FIV (6) 6 SIX (7) 7 **SVN** (8) 8 EGT (9) 9 NIN (10) 10TEN (11) 11

ELVN (12) 12 TWLV (13) 13THRTN (14) 14 FORTN (15) 15 FIFTN (16) 16 SIXTN (17) 17 **SVNTN** (18) 18 **EGHTN** (19) 19 NINTN (20) 20TWTY

(f) The play symbols and play symbol captions in the area labeled "7-11" of scratch-off game number 774, other than those representing prize amounts, shall consist of the following possible play symbols and play symbol captions:

- (1) A picture of a die with the number 1 ONE
- (2) A picture of a die with the number 2 TWO
- (3) A picture of a die with the number 3 THR
- (4) A picture of a die with the number 4 FOR
- (5) A picture of a die with the number 5 FIV
- (6) A picture of a die with the number 6 SIX

(g) The play symbols and play symbol captions in the area labeled "SLOTS" on each ticket in scratch-off game number 774, other than those representing prize amounts, shall consist of the following possible play symbols and play symbol captions:

- (1) A picture of a clump of cherries
- CHY
- (2) A picture of an orange
- ORG
- (3) A picture of a slice of melon MEL
- (4) A picture of a banana BAN
- (5) A picture of a star STA
- (6) A picture of a lemon
- LEM
- (7) A picture of a horseshoe
- SHO
- (8) A picture of a bar

BAR

(9) A picture of a "7"

SVN (10) A picture of a crown CRN (11) A picture of a diamond DMD (12) A picture of a pineapple PNA (13) A picture of a "\$" MON (14) A picture of a four-leafed clover CLO (h) The play symbols representing prize amounts shall consist of the following possible play symbols: (1) \$1.00 ONE (2) \$2.00 TWO (3) \$3.00 THREE (4) \$4.00 FOUR (5) \$5.00 FIVE (6) \$10.00 TEN (7) \$15.00 FIFTEEN (8) \$20.00 TWENTY (9) \$25.00 TWY FIVE (10) \$30.00 THIRTY (11) \$50.00 FIFTY (12) \$75.00 SVTY FIVE (13) \$100 **ONE HUN** (14) \$200 **TWO HUN** (15) \$500 **FIV HUN** (16) \$1,000 **ONE THOU** (17) \$5,000 FIVE THOU (18) \$10,000 **TEN THOU** (19) \$50,000 **FTY THOU** (20) \$100,000 HUN THOU SECTION 4. (a) The holder of a ticket in scratch-off game number 774 shall remove the latex material covering the fortyfive (45) play symbols and play symbol captions.

(b) If, in the "ROULETTE" game, the play symbol and play symbol caption in the "YOUR NUMBER" area matches one (1) of the surrounding play symbols and play symbol captions, the holder is entitled to a prize of the paired prize amount.

(c) If, in the "7-11" game, the numbers on the play symbols representing pictures of dice in one (1) or more rows total seven (7) or eleven (11), the holder is entitled to the corresponding prize amounts.

(d) If, in the "SLOTS" game, if [sic.] three (3) matching play symbols and play symbol captions are exposed in one (1) or more rows, the holder is entitled to a prize in the amount corresponding prize amounts.

(e) The winning play symbols, prize amounts, and number of winners in scratch-off game number 774 are as follows:

(e) The winning play symbols, prize amounts		Approximate Number of
Winning Play Symbols	Prize Amount	Winners
2-200 + 1-100	\$5	90,000
5-\$1.00	\$5	60,000
1-\$5.00	\$5	60,000
5-\$1.00 + 1-\$5.00	\$10	60,000
2-\$5.00	\$10	60,000
1-1.00 + 2-2.00 + 1-5.00	\$10	60,000
1-\$10.00	\$10	60,000
5-\$3.00	\$15	30,000
3-\$5.00	\$15	30,000
2-4.00 + 3-2.00 + 1-1.00	\$15	30,000
1-\$15.00	\$15	30,000
5-\$2.00 + 4-\$10.00	\$50	18,750
5-\$10.00	\$50	18,750
2-20.00 + 1-10.00	\$50	12,500
1-\$50.00	\$50	12,500
14-\$5.00 + 1-\$30.00	\$100	2,500
10-\$10.00	\$100	1,250
2-\$25.00 + 1-\$50.00	\$100	1,250
2-\$50.00	\$100	1,250
4-\$15.00 + 2-\$20.00	\$100	1,250
4-\$25.00	\$100	1,250
1-\$100	\$100	1,250
5-\$100	\$500	125
4-\$100+2-\$50.00	\$500	125
3-\$100+1-\$200	\$500	125
1-\$500	\$500	125
10-\$100	\$1,000	25
5-\$200	\$1,000	25
10-\$75.00 + 5-\$50.00	\$1,000	20
2-\$500	\$1,000	20
1-\$1,000	\$1,000	20
5-\$1,000 + 1-\$5,000	\$10,000	10
10-\$1,000	\$10,000	3
2-\$5,000	\$10,000	3
1-\$10,000	\$10,000	2
2-\$50,000	\$100,000	3

1-\$100,000

\$100,000

3

SECTION 5. (a) There shall be approximately three million (3,000,000) scratch-off tickets initially available in scratch-off game number 774.

(b) The odds of winning a prize in scratch-off game number 774 are approximately 1 in 4.66.

(c) All reorders of tickets for scratch-off game number 774 shall have the same:

(1) prize structure;

(2) number of prizes per prize pool of one hundred twenty thousand (120,000); and

(3) odds;

as contained in the initial order.

SECTION 6. Game end dates and last day to claim prizes will be available on the commission's Web site, www.hoosierlottery.com, from the commission's toll-free customer service 800-955-6886, or from any retailer of lottery tickets.

LSA Document #05-240(E) Filed with Secretary of State: August 18, 2005, 4:30 p.m.